A £ 0l &8 A G Ml A

SN S
BE: NUS A(LHBIHT/ LB
sYE 2l G=CE-E
DA - BB - CSRA(S) - NRAR - BAS e Cie HImE2
608,857 612,076 23,219
S A (Letssdy/Lerety) 447,463 452,051 N4,588
4Ys 22 180,763 209,651 28,888
A2 Xt 2el 26,500 16,200 10,300
201 k=& 14,500 9,200 5,300
02 SE=gH| 14,500 9,200 5,300
OAlZ ZHI=XIHI 8,500
—2= |2l 1,500,000& * 14] 1,500
—HHD| AIEYI 125,000 = 16CH 2,000
—EAN TR HEcll 5,000,000& = 1CH 5,000
OFEAL HAE9H| 1,500,000& * 22 3,000
OXtg=Aldl & A234| 3,000
—AEo= 2,000,000& * 1CH 2,000
—AEESE(HIIX) 1,000,000& * 1CH 1,000
401 AlEHIZL SO0 12,000 7,000 5,000
01 Al£H] 12,000 7,000 5,000
O =8 HAIH EXIZBAH 12,000,000 * 14! 12,000
2Hots !Xl 12,720 12,720 0
201 k= 12,720 12,720 0
02 8= 12,720 12,720 0
OEets el 60,0008 * 530S * 40/100 12,720
2HE CCTV sAl2el 1,760 1,760 0
201 k=2 1,760 1,760 0
02 E52gH| 1,760 1,760 0
OgHEECCTV &HIIR2=
5,000& * 24004 » 11E 1,320
OgHECCTV =Al2eldl
50,0003 » 2204 = 40/100 440
=ES23 MY 6,083 32,677 A\26,594
101 e124H] 4,397 26,929 N22,532
04 JIZtN2Z2 XS 2+ 4,397 26,929 N22,532
OADDH 212 & 88| 2IfY
73,2803 = 2& * 30 4,397
201 k=g 500 500 0
01 At=2teld 500 500 0
OuIFIl & JIAHZEH] ==el 100,000& = 5CH 500
206 =4l 1,186 5,248 A4,062
01 H=H] 1,186 5,248 4,062
O22 & 23X &g 1,186




2A: AUS
HE: NUS AR(UBIDDHT/AUHT)
©elr &S 2tel (&2 A&)
=] XxH . Cle| (5 =] EHAS OH HEE =3}
—HEol ZH 2N 7L 10,000& » 108 100
—EHl & Hlg P2 5,000% * 20 * 23] 200
0= &g ux 3,000& * 5004 150
—WFIIE 2 2 1,590 = 400 £ 636
JIEF HHEF 2L 5,000& * 58 * 43| 100
AYUS FOIXXHEH 29 4,200 5,076 876
201 LBr23H| 4,200 5,076 AB76
01 AtR2telt| 2,800 3,676 AB76
OF0UXXME T2 )2
1,600,000& * 14! 1,600
OF UMY A22F FU(HLEE, SIHA S)
100,000 * 123l 1,200
02 S=23| 1,400 1,400 0
OFLUXRXIME Al-d2te 1,400,000& * 14! 1,400
ZFO0IREXI D|et2 st 129,500 131,400 21,900
301 YeEEZ 129,500 129,600 A100
05 S& -0 - pHEeEs8a3 123,200 123,300 A100
Os&Y 117,000
—JlE2=g 300,000& * 259 * 12& 90,000
—&03 300,000& * 259% * 200% 15,000
— 3| F A G
20,0003 » 256 » 23| « 123 12,000
ObtE =g 50,000& * 124 6,200
09 HALAHIXIRZ 6,300 6,300 0
OSEso £9| S sloIFAT} 24
7,000& * 759 » 123 6,300
22 FREHAANY 266,700 242,400 24,300
A2 FRIEHAANY 266,700 242,400 24,300
401 AIEHIZL UL 266,700 242,400 24,300
01 Al&HI 265,000 241,000 24,000
OATE FRIHEHAA 265,000
—18 O|HEZ Y A5= FHISA
100,000& * 40m 4,000
—28 OHIZ &CI AN SAt
4,500,000& * 14! 4,500
—28 otHlZ2 s2EE 2 == JH|l SAt
200,000& * 140m 28,000
—38 SZ2EE L =2 FH| SAt
100,000 * 130m 13,000
—38 Z== =2 JEH| SAt
100,000& * 130m 13,000
—48 2012 ti+=2 Jd| SA
100,000& * 180m 18,000




SA AUS
HM: NUS Al (YBHDTHE/LUHE)
CHR: ARD FDIHOIALY (G2 &)
_ - _ bSlEl=
2A -3 A2(ZH) - MRAR - BES O nHoH 0“1“;0” Hwns2t
—4E 202 A= FHIZA
500,0002 * 18m 9,000
—4E OtAR SIMRD| ZA}
17,000,000 * 14l 17,000
—5€ Q23 U2 JH| ZA
00,0002 * 130m 13,000
—5E MRS =2TEH L HiSZ FH| ZAH
100,000 * 130m 13,000
—BS QHSE =W Hi2 HH| A
100,000 * 200m 20,000
—65 22 SREH L Ui~ HH| ZA
100,0002 * 180m 18,000
—8E~E 0|HER L AD= HH|ZA
100,00084 * 45m 4,500
—15E~16E 0|HEZ L AZ2 FHY|ZA
100,0002 * 90m 9,000
—XE 222|012 Hi4=2 HHIZA}
100,00024 * 180m 18,000
— 2N =01 Ul AFY
900,000 * 1044 9,000
—LEDEQHS WXl A (AIAELE)
1,000,000 * 25JHA 25,000
—2E=2 MAH At 1,000,000 * 10904 10,000
—ZHH HOHTIGH 2327 ZHIYX}
10,000,000 * 14l 10,000
—ZHH JIEYIY AR 3MA
60,0002 * 150m 9,000
03 Al&SCHH 1,700 1,400 300
OARE FOIHOIAIY AlA RO
1,700,000 * 1Al 1,700
HESAZH|(AUE) (JIEHIIE} 161,3% 160,025 1,369
ol2t2oH| 52,044 51,517 527
oladoH| 52,044 51,517 527
101 Q14| 52,044 51,517 527
01 B 52,044 51,517 527
OAIRIQ 2R
10,9522 * 11 = 36AI2F = 128 52,044
|=22H| 109,350 108,508 842
J|2ZH| 109,350 108,508 842
201 Lt 57,510 56,668 842
01 AFRZH2IH| 28,386 27,228 1,158
O=2A2A 2 16,0002 * 128fA « 129 2,304
OE20HAH 7,0002 * 4Al x 122 » 129 4,032
Ot 100,000 * 129 1,200
OARAZ TP 50,0008 * 122 600




A NS
M HH2AAH|(AUS)(JIEH/IIE
Sl Jl=2) crol mel
S - B () - MIBAY - BAS of e el 2
OARE =48] 5,040
—SA| 22l 500,000 = 1CH 500
—ZglFI| =2l 100,000& = 2CH * 50/100 100
—SAD| EYH 200,000& = 53] » 1CH 1,000
—I2IH EH(EY) 200,000& * 53] * 204 2,000
—I2le EH(Zd) 200,000 * 33| » 1[H 600
—PC =2l 100,000& = 12CH * 20/100 240
—JIEt ==2lbl 50,000& * 12& 600
OJIEF AFR2t21H] 5,000 = 12% = 123 720
U =AY| 14,490
—2& 60,000& » 198 = 118 7,080
—=% 30,0003 » 198 = 247 7,410
02 Z=23| 29,124 29,440
O3=23a ¥ HA 29,124
—RERI 180,000& = 12& 2,160
—&IIe3 1,600,000& * 12& 19,200
— Aot ER3 70,0003 * 128 840
—&D| et eIt =5
110,000& = 12& 1,320
—&3E HAZ 150,000& * 13 150
—RUES A= 10,000& * 204 * 12& 240
—ghstate| 29| 180,000& * 12& 2,160
-5 FAEF+ 22| 242,000& = 12& 2,904
—52J| EJIZAHI 150,000& * 13 150
202 Odb| 39,960 39,960
01 =W AL 39,960 39,960
O2tUYI 20,000& * 12% » 12 « 12& 34,560
O&2 04| 90,0003 * 12% » 5 5,400
203 AR F=&H| 10,080 10,080
01 J|22IHRFX| 6,600 6,600
O J|22H YR =A| 6,600,000& * 194 6,600
02 BRI FEI| 480 480
O APRFEIY| 40,0002 = 12 480
04 EA2ILRFE| 3,000 3,000
ORNSIHAR &I 250,000& = 12& 3,000
204 P AL| 1,800 1,800
01 MM SR E| 1,800 1,800
OXBIUDL 82| (HAEH)
150,000& » 19 * 123 1,800






